

GROUND STATES OF THE QUASILINEAR PROBLEMS INVOLVING THE CRITICAL SOBOLEV EXPONENT AND POTENTIALS

DONGSHENG KANG

(Communicated by C. O. Alves)

Abstract. In this paper we study a quasilinear elliptic problem which involves the critical Sobolev exponent and multiple Hardy-type terms. By the analytic technics and variational methods, the existence and nonexistence of the ground states for the problem is established under certain assumptions.

1. Introduction

In this paper, we study the following elliptic problem:

$$\begin{cases}
-\Delta_{p}u - \sum_{i=1}^{k} \frac{\lambda_{i} u^{p-1}}{|x - a_{i}|^{p}} = u^{p^{*}-1}, & u > 0, \\
x \in \mathbb{R}^{N} \setminus \{a_{1}, a_{2}, \dots, a_{k}\},
\end{cases}$$
(1.1)

where $N \geqslant 3$, $k \geqslant 2$, $1 , <math>p^* := \frac{Np}{N-p}$ is the critical Sobolev exponent, $-\infty < \lambda_i < \overline{\lambda}$, $\overline{\lambda} := (\frac{N-p}{p})^p$ is the best Hardy constant, $a_i \in \mathbb{R}^N$ and $a_i \neq a_j$ for any $i, j = 1, 2, \dots, k$, $i \neq j$.

Problem (1.1) is related to the well-known Hardy inequality [4, 9, 12]:

$$\int_{\mathbb{R}^N} \frac{|u|^p}{|x-a|^p} dx \leqslant \frac{1}{\lambda} \int_{\mathbb{R}^N} |\nabla u|^p dx, \quad \forall \, u \in C_0^{\infty}(\mathbb{R}^N), \ \, a \in \mathbb{R}^N. \tag{1.2}$$

In this paper, the space $D^{1,p}(\mathbb{R}^N)$ denotes the completion of $C_0^{\infty}(\mathbb{R}^N)$ with respect to the norm $(\int_{\mathbb{R}^N} |\nabla u|^p dx)^{1/p}$. The function $u \in D^{1,p}(\mathbb{R}^N)$ is said to be a solution of the problem (1.1) if u > 0 satisfies

$$\int_{\mathbb{R}^{N}} \left(|\nabla u|^{p-2} \nabla u \, \nabla v - \sum_{i=1}^{k} \frac{\lambda_{i} u^{p-1} \, v}{|x - a_{i}|^{p}} - u^{p^{*}-1} v \right) dx = 0 \,, \quad \forall \, v \in D^{1,p}(\mathbb{R}^{N}).$$

By the standard elliptic regularity argument, the solution $u \in C^{1,\alpha}(\mathbb{R}^N \setminus \{a_1, \dots, a_k\})$.

This work is supported by the National Natural Science Foundation of China(10771219).



Mathematics subject classification (2000): 35B33, 35J60, 35J65.

Keywords and phrases: quasilinear problem, ground state solution, Hardy inequality, variational method.

We mention that the elliptic problems involving the Hardy inequality were studied by many authors recently, see for example [1]-[11], [13]-[15], [18], [19] and the references therein. We also point out that in the recent papers [5]-[7], the semilinear problems involving the critical Sobolev exponent and multiple Hardy terms were studied and many important conclusions were obtained. Stimulated by these publications, in this paper we investigate the ground state of the problem (1.1), the solution which has the smallest energy and minimizes the corresponding Rayleigh quotient.

For all $\lambda \in (-\infty, \overline{\lambda})$ and $a \in \mathbb{R}^N$, by the Hardy and Sobolev inequalities we can define the following best Sobolev constant,

$$S(\lambda) := \inf_{u \in D^{1,p}(\mathbb{R}^N) \setminus \{0\}} \frac{\int_{\mathbb{R}^N} \left(|\nabla u|^p - \lambda \frac{|u|^p}{|x - a|^p} \right) dx}{\left(\int_{\mathbb{R}^N} |u|^{p^*} dx \right)^{\frac{p}{p^*}}}.$$
 (1.3)

Note that $S(\lambda)$ is independent of the point a. Here we recall a recent result in [1], where the authors studied the limiting problem:

$$\begin{cases}
-\Delta_{p}u - \lambda \frac{u^{p-1}}{|x-a|^{p}} = u^{p^{*}-1} & \text{in } \mathbb{R}^{N} \setminus \{a\}, \\
u \in D^{1,p}(\mathbb{R}^{N}), u > 0 & \text{in } \mathbb{R}^{N} \setminus \{a\}.
\end{cases}$$
(1.4)

They proved that for $0 \le \lambda < \overline{\lambda}$ and 1 , (1.4) has the radially symmetric ground states

$$V_{p,\lambda,\varepsilon}^{a}(x) = \varepsilon^{\frac{p-N}{p}} U_{p,\lambda}\left(\frac{x-a}{\varepsilon}\right) = \varepsilon^{\frac{p-N}{p}} U_{p,\lambda}\left(\frac{|x-a|}{\varepsilon}\right), \ \forall \ \varepsilon > 0, \tag{1.5}$$

that satisfy

$$\int_{\mathbb{R}^{N}} \left(|\nabla V_{p,\lambda,\varepsilon}^{a}(x)|^{p} - \lambda \frac{|V_{p,\lambda,\varepsilon}^{a}(x)|^{p}}{|x-a|^{p}} \right) dx = \int_{\mathbb{R}^{N}} |V_{p,\lambda,\varepsilon}^{a}(x)|^{p^{*}} dx = S(\lambda)^{\frac{N}{p}}.$$

 $U_{p,\lambda}(x) = U_{p,\lambda}(|x|)$ is the unique radial solution of (1.4) satisfying [1]:

$$\begin{split} U_{p,\lambda}(1) &= \left(\frac{N(\bar{\lambda}-\lambda)}{N-p}\right)^{\frac{1}{p^*-p}},\\ \lim_{r\to 0} r^{a(\lambda)}U_{p,\lambda}(r) &= C_1 > 0\,, \quad \lim_{r\to +\infty} r^{b(\lambda)}U_{p,\lambda}(r) = C_2 > 0\,,\\ \lim_{r\to 0} r^{a(\lambda)+1}|U'_{p,\lambda}(r)| &= C_1a(\lambda) \geqslant 0, \quad \lim_{r\to +\infty} r^{b(\lambda)+1}|U'_{p,\lambda}(r)| = C_2b(\lambda) > 0, \end{split}$$

where C_1 and C_2 are positive constants depending on λ, p and N and $a(\lambda)$ and $b(\lambda)$ are zeroes of the function

$$f(t) = (p-1)t^p - (N-p)t^{p-1} + \lambda, \ t \geqslant 0, \tag{1.6}$$

that satisfy

$$0 \le a(\lambda) < \delta < b(\lambda), \qquad \delta := \frac{N-p}{p}.$$
 (1.7)

Moreover, there exist positive constants $\mathscr{C}_1(\lambda)$ and $\mathscr{C}_2(\lambda)$ such that

$$0 < \mathscr{C}_1(\lambda) \leqslant U_{p,\lambda}(x) \left(|x|^{\frac{a(\lambda)}{\delta}} + |x|^{\frac{b(\lambda)}{\delta}} \right)^{\delta} \leqslant \mathscr{C}_2(\lambda). \tag{1.8}$$

The above results are useful for us to study the problem (1.1).

In this paper, the following assumption is needed:

 $(\mathscr{H}_1): \quad \lambda_1 \leqslant \lambda_2 \leqslant \cdots \leqslant \lambda_k < \overline{\lambda} \ , \ k \geqslant 2 \ \text{and there exists an} \ l \in \{0,1,2,\cdots,k-1\} \ \text{such that} \ \lambda_l \leqslant 0 < \lambda_{l+1} \leqslant \lambda_{l+2} \leqslant \cdots \leqslant \lambda_k \ \ (\lambda_l = 0 \ \ if \ \ l = 0) \ ; \ \text{moreover},$

$$\sum_{i=l+1}^k \lambda_i < \overline{\lambda} \ \text{ and } \ \sum_{i=1}^{k-1} \lambda_i < 0.$$

Under the assumption $\sum_{i=l+1}^k \lambda_i < \overline{\lambda}$ and by the Hardy inequality, we can define the following best constant $A = A(\lambda_1, \lambda_2, \cdots, \lambda_k)$,

$$A := \inf_{u \in D^{1,p}(\mathbb{R}^N) \setminus \{0\}} \frac{\int_{\mathbb{R}^N} \left(|\nabla u|^p - \sum_{i=1}^k \frac{\lambda_i |u|^p}{|x - a_i|^p} \right) dx}{\left(\int_{\mathbb{R}^N} |u|^{p^*} dx \right)^{\frac{p}{p^*}}}, \tag{1.9}$$

we shall prove that A is bounded later on, see Lemma 3.2 in this paper.

The main results of this paper can be concluded as the following theorems. We mention that if p=2 and $0 \le \lambda < \overline{\lambda}_2 := (\frac{N-2}{2})^2$, then

$$a(\lambda) = \sqrt{\bar{\lambda}_2} - \sqrt{\bar{\lambda}_2 - \lambda}$$
 and $b(\lambda) = \sqrt{\bar{\lambda}_2} + \sqrt{\bar{\lambda}_2 - \lambda}$,

and our results are the same with those in [6]. The results are new in the case when $1 and <math>p \ne 2$. We can verify that the intervals in (\mathcal{H}_1) and Theorem 1.1 for the parameter λ_k are not empty.

THEOREM 1.1. Suppose (\mathcal{H}_1) , $N > \max\{p^2, p+1\}$, $\lambda^* := (N-p^2)N^{p-1}p^{-p}$, δ , $b(\lambda_k)$, $\mathcal{C}_1(\lambda_k)$ and $\mathcal{C}_2(\lambda_k)$ are defined as in (1.6)-(1.8) and l is defined as in (\mathcal{H}_1) . Assume that one of the following conditions is satisfied:

(i)
$$\sum_{i=1}^{k-1} \frac{\lambda_i}{|a_i - a_k|^p} > 0, \quad 0 < \lambda_k < \lambda^*,$$

$$(ii) \quad \sum_{i=1}^{l} \frac{\left(\mathscr{C}_{2}(\lambda_{k})\right)^{p} \lambda_{i}}{|a_{i} - a_{k}|^{p(b(\lambda_{k}) - \delta)}} + \sum_{j=l+1}^{k-1} \frac{\left(\mathscr{C}_{1}(\lambda_{k})\right)^{p} \lambda_{j}}{|a_{j} - a_{k}|^{p(b(\lambda_{k}) - \delta)}} > 0, \quad \lambda^{*} \leqslant \lambda_{k} < \overline{\lambda}.$$

Then the infimum in (1.9) is achieved and therefore the problem (1.1) has at least one ground state solution.

THEOREM 1.2. Assume that $k \ge 2$ and the following conditions are satisfied:

$$\lambda_i > 0$$
, $i = 1, 2, \dots, k$, and $\sum_{i=1}^k \lambda_i < \overline{\lambda}$.

Then the infimum in (1.9) cannot be achieved and (1.1) has no ground state.

This paper is organized as follows. In Section 2 we study a local Palais-Smale condition by the concentration compactness principle. In Sections 3 and 4 we prove Theorems 1.1 and 1.2 respectively. In this paper, $D^{-1,p}(\mathbb{R}^N)$ is the dual space of $D^{1,p}(\mathbb{R}^N)$. For t>0, $O(\varepsilon^t)$ denotes the quantity satisfying $|O(\varepsilon^t)|/\varepsilon^t \le C$, $o(\varepsilon^t)$ means $|o(\varepsilon^t)|/\varepsilon^t \to 0$ as $\varepsilon \to 0$ and o(1) is a generic infinitesimal value. In the following argument, we employ C to denote the positive constants and omit dx in integrals for convenience if no confusion is caused.

2. Palais-Smale condition

We define the functional on the space $D^{1,p}(\mathbb{R}^N)$,

$$J(u) = \frac{1}{p} \int_{\mathbb{R}^N} \left(|\nabla u|^p - \sum_{i=1}^k \frac{\lambda_i |u|^p}{|x - a_i|^p} \right) dx - \frac{A}{p^*} \int_{\mathbb{R}^N} |u|^{p^*} dx.$$

Note that if u > 0 is a critical point of J, then $v = A^{\frac{1}{p^* - p}} u$ is a solution to (1.1). The following lemma provides a local Palais-Smale condition for the functional J.

LEMMA 2.1. The functional J satisfies the $(PS)_c$ condition for all $c < c^*$, where

$$c^* = \frac{1}{N} A^{1 - \frac{N}{p}} \left(\min \left\{ S(0), S(\lambda_1), S(\lambda_2), \dots, S(\lambda_k), S\left(\sum_{i=1}^k \lambda_i\right) \right\} \right)^{\frac{N}{p}}. \tag{2.1}$$

Proof. Suppose that the sequence $\{u_n\} \subset D^{1,p}(\mathbb{R}^N)$ satisfies $J(u_n) \to c < c^*$ and $J'(u_n) \to 0$ in $D^{-1,p}(\mathbb{R}^N)$. Then u_n is a bounded sequence in $D^{1,p}(\mathbb{R}^N)$. Up to a subsequence and for some $u \in D^{1,p}(\mathbb{R}^N)$ we have:

$$u_n \rightharpoonup u$$
 weakly in H ,
 $u_n \rightarrow u$ a. e. in \mathbb{R}^N ,
 $u_n \rightarrow u$ in $L^{\alpha}_{loc}(\mathbb{R}^N)$, $\forall \alpha \in [1, p^*)$.

Then by the concentration compactness principle [16, 17] and up to a subsequence if necessary, there exist an at most countable set $\mathcal{J}, x_j \in \mathbb{R}^N \setminus \{a_1, a_2, \dots, a_k\}$, real numbers $\mu_{x_i}, \nu_{x_i}, j \in \mathcal{J}$ and $\mu_{a_i}, \nu_{a_i}, \gamma_{a_i}, i = 1, 2, \dots, k$, such that the following conver-

gences hold in the sense of measures:

$$|\nabla u_n|^p \rightharpoonup d\mu \geqslant |\nabla u|^p + \sum_{i=1}^k \mu_{a_i} \delta_{a_i} + \sum_{j \in \mathscr{J}} \mu_{x_j} \delta_{x_j}, \tag{2.2}$$

$$|u_n|^{p^*} \rightharpoonup dv = |u|^{p^*} + \sum_{i=1}^k v_{a_i} \delta_{a_i} + \sum_{j \in \mathscr{J}} v_{x_j} \delta_{x_j},$$
 (2.3)

$$\frac{\lambda_i |u_n|^p}{|x - a_i|^p} \rightharpoonup d\gamma_i = \frac{\lambda_i |u|^p}{|x - a_i|^p} + \gamma_{a_i} \delta_{a_i}, \quad i = 1, 2, \dots, k,$$
(2.4)

where δ_x is the Dirac mass at x. By the Sobolev inequality we have

$$S(0)(\nu_{x_j})^{\frac{p}{p^*}} \leqslant \mu_{x_j}, \ \forall j \in \mathscr{J}, \tag{2.5}$$

$$S(0)(\nu_{a_i})^{\frac{p}{p^*}} \leqslant \mu_{a_i}, \ i = 1, 2, \dots, k.$$
 (2.6)

To study the concentration at infinity, we set:

$$\mu_{\infty} = \lim_{R \to \infty} \limsup_{n \to \infty} \int_{|x| > R} |\nabla u_n|^p dx,$$

$$v_{\infty} = \lim_{R \to \infty} \limsup_{n \to \infty} \int_{|x| > R} |u_n|^{p^*} dx,$$

$$\gamma_{\infty} = \left(\sum_{i=1}^k \lambda_i\right) \lim_{R \to \infty} \limsup_{n \to \infty} \int_{|x| > R} \frac{|u_n|^p}{|x|^p} dx.$$

We need to verify the following claims.

Claim 1. The set \mathscr{J} is finite and for any $j \in \mathscr{J}$, either $v_{x_j} = 0$ or

$$v_{x_j} \geqslant \left(\frac{S(0)}{A}\right)^{N/p}.$$

In fact, choose $\varepsilon > 0$ small such that $a_i \notin B_{\varepsilon}(x_j), i = 1, 2, \cdots, k$ and $B_{\varepsilon}(x_i) \cap B_{\varepsilon}(x_j) = \emptyset$ for $i \neq j, \ i, j \in \mathscr{J}$. Take the cut-off function $\phi_j \in C_0^{\infty}(B_{\varepsilon}(x_j))$ such that $0 \leqslant \phi_j \leqslant 1, \ \phi_j = 1$ in $B_{\varepsilon/2}(x_j)$ and $|\nabla \phi_j| \leqslant \frac{4}{\varepsilon}$. Then

$$\langle J'(u_n), u_n \phi_j \rangle = \int_{\mathbb{R}^N} |\nabla u_n|^p \phi_j dx + \int_{\mathbb{R}^N} u_n |\nabla u_n|^{p-2} \nabla u_n \nabla \phi_j dx$$
$$- \int_{\mathbb{R}^N} \sum_{i=1}^k \frac{\lambda_i |u_n|^p}{|x - a_i|^p} \phi_j dx - A \int_{\mathbb{R}^N} |u_n|^{p^*} \phi_j dx.$$

Note that

$$\lim_{n\to\infty} \int_{\mathbb{R}^N} |\nabla u_n|^p \phi_j dx = \int_{\mathbb{R}^N} \phi_j d\mu \geqslant \int_{\mathbb{R}^N} |\nabla u|^p \phi_j dx + \mu_{x_j}, \qquad (2.7)$$

$$\lim_{n\to\infty} \int_{\mathbb{R}^N} |u_n|^{p^*} \phi_j dx = \int_{\mathbb{R}^N} \phi_j dv = \int_{\mathbb{R}^N} |u|^{p^*} \phi_j dx + v_{x_j}, \qquad (2.8)$$

$$\lim_{\varepsilon \to 0} \lim_{n \to \infty} \left| \int_{\mathbb{R}^N} u_n |\nabla u_n|^{p-2} \nabla u_n \nabla \phi_j \right| dx = 0, \tag{2.9}$$

$$\lim_{\varepsilon \to 0} \lim_{n \to \infty} \left| \int_{\mathbb{R}^N} \frac{|u_n|^p}{|x - a_i|^p} \phi_j \right| dx \leqslant \lim_{\varepsilon \to 0} \lim_{n \to \infty} \left| \int_{B_{\varepsilon}(x_i)} \frac{|u_n|^p}{(|x_j - a_i| - \varepsilon)^p} \phi_j \right| dx = 0, \quad (2.10)$$

$$\lim_{\varepsilon \to 0} \lim_{n \to \infty} \int_{\mathbb{R}^N} |u_n|^{p^*} \phi_j dx = \lim_{\varepsilon \to 0} \int_{\mathbb{R}^N} \phi_j dv = v_{x_j}. \tag{2.11}$$

From (2.7)-(2.11) it follows that

$$0 = \lim_{\varepsilon \to 0} \lim_{n \to \infty} \langle J'(u_n), u_n \phi_j \rangle \geqslant \mu_{x_j} - A v_{x_j}. \tag{2.12}$$

By (2.5) and (2.12) we deduce that Claim 1 holds.

Claim 2. For
$$i = 1, 2, \dots, k$$
, either $v_{a_i} = 0$ or $v_{a_i} \geqslant \left(\frac{S(\lambda_i)}{A}\right)^{N/p}$.

In fact, for $\varepsilon>0$ we can take $\psi_i(x)\in C_0^\infty(B_\varepsilon(a_i))$ such that $0\leqslant \psi_i(x)\leqslant 1$, $\psi_i(x)=1$ in $B_{\varepsilon/2}(a_i)$ and $|\nabla \psi_i|\leqslant \frac{4}{\varepsilon}$. From (1.3) it follows that

$$\int_{\mathbb{R}^N} \left(|\nabla (u_n \psi_i)|^p - \lambda_i \frac{|u_n|^p \psi_i^p}{|x - a_i|^p} \right) dx \geqslant S(\lambda_i) \left(\int_{\mathbb{R}^N} |u_n \psi_i|^{p^*} dx \right)^{\frac{p}{p^*}}. \tag{2.13}$$

Then

$$\lim_{n\to\infty} \int_{\mathbb{R}^N} |\nabla u_n|^p \psi_i dx = \int_{\mathbb{R}^N} \psi_i d\mu \geqslant \int_{\mathbb{R}^N} |\nabla u|^p \psi_i dx + \mu_{a_i}, \qquad (2.14)$$

$$\lim_{n \to \infty} \int_{\mathbb{R}^N} |u_n|^{p^*} \psi_i dx = \int_{\mathbb{R}^N} \psi_i dv = \int_{\mathbb{R}^N} |u|^{p^*} \psi_i dx + \nu_{a_i}, \qquad (2.15)$$

$$\lim_{n\to\infty}\int_{\mathbb{R}^N}\frac{\lambda_i|u_n|^p}{|x-a_i|^p}\psi_i\,dx = \int_{\mathbb{R}^N}\psi_id\gamma_i = \int_{\mathbb{R}^N}\frac{\lambda_i|u|^p\psi_i}{|x-a_i|^p}\,dx + \gamma_{a_i}, \tag{2.16}$$

$$\lim_{n \to \infty} \int_{\mathbb{R}^N} \frac{\lambda_j |u_n|^p}{|x - a_j|^p} \psi_i dx = 0, \quad i, j = 1, 2, \dots, k, \ i \neq j,$$
(2.17)

$$\lim_{\varepsilon \to 0} \lim_{n \to \infty} \int_{\mathbb{R}^N} u_n |\nabla u_n|^{p-2} \nabla u_n \nabla \psi_i dx = 0.$$
 (2.18)

From (2.14)-(2.18) it follows that

$$0 = \lim_{\varepsilon \to 0} \lim_{n \to \infty} \langle J'(u_n), u_n \psi_i \rangle \geqslant \mu_{a_i} - \gamma_{a_i} - A \nu_{a_i}.$$
 (2.19)

By (2.13) we infer that

$$S(\lambda_i) (\nu_{a_i})^{\frac{p}{p^*}} \leqslant \mu_{a_i} - \gamma_{a_i}, \quad 1 \leqslant i \leqslant k.$$

Thus we have

$$S(\lambda_i)(\nu_{a_i})^{\frac{p}{p^*}} \leqslant \mu_{a_i} - \gamma_{a_i} \leqslant A \nu_{a_i},$$

which implies that Claim 2 holds.

Claim 3. We claim that either $v_{\infty} = 0$ or

$$v_{\infty} \geqslant \left(\frac{S(\sum_{i=1}^k \lambda_i)}{A}\right)^{N/p}.$$

In fact, for R>0 large we choose $\psi(x)\in C_0^\infty(\mathbb{R}^N\setminus B_R(0))$ such that $\psi(x)=1$ in $\mathbb{R}^N\setminus B_{2R}(0),\ 0\leqslant \psi(x)\leqslant 1$ and $|\nabla\psi|\leqslant \frac{2}{R}$. By (1.3) we have

$$\int_{\mathbb{R}^N} \left(|\nabla(u_n \psi)|^p - \left(\sum_{i=1}^k \lambda_i \right) \frac{|u_n|^p \psi^p}{|x|^p} \right) dx \geqslant S\left(\sum_{i=1}^k \lambda_i \right) \left(\int_{\mathbb{R}^N} |u_n \psi|^{p^*} dx \right)^{\frac{p}{p^*}}. \tag{2.20}$$

By the elementary inequality

$$\left|\,|X+Y|^p-|X|^p\right|\leqslant C\left(\,|X|^{p-1}|Y|+|Y|^p\right),\quad\forall X,Y\in\mathbb{R}^N,$$

we have

$$\int_{\mathbb{R}^{N}} ||\nabla(u_{n}\psi)|^{p} - \psi^{p}|\nabla u_{n}|^{p}| dx = \int_{\mathbb{R}^{N}} ||\psi\nabla u_{n} + u_{n}\nabla\psi|^{p} - \psi^{p}|\nabla u_{n}|^{p}| dx$$

$$\leq \int_{\mathbb{R}^{N}} (|\psi\nabla u_{n}|^{p-1}|u_{n}\nabla\psi| + |u_{n}\nabla\psi|^{p}) dx. \quad (2.21)$$

From the Hölder inequality it follows that

$$\int_{\mathbb{R}^{N}} |u_{n}| |\psi \nabla u_{n}|^{p-1} |\nabla \psi| dx \leq \left(\int_{R < |x| < 2R} |u_{n}|^{p} |\nabla \psi|^{p} dx \right)^{\frac{1}{p}} \left(\int_{R < |x| < 2R} |\nabla u_{n}|^{p} dx \right)^{\frac{p-1}{p}}.$$

Consequently,

$$\limsup_{n \to \infty} \int_{\mathbb{R}^{N}} |u_{n}| \psi^{p-1} |\nabla u_{n}|^{p-1} |\nabla \psi| dx \leqslant C \left(\int_{R < |x| < 2R} |u|^{p} |\nabla \psi|^{p} dx \right)^{\frac{1}{p}} \\
\leqslant C \left(\int_{R < |x| < 2R} |u|^{p^{*}} dx \right)^{\frac{p}{p^{*}}} \left(\int_{R < |x| < 2R} |\nabla \psi|^{N} dx \right)^{\frac{p}{N}} \\
\leqslant C \left(\int_{R < |x| < 2R} |u|^{p^{*}} dx \right)^{\frac{p}{p^{*}}}.$$

Furthermore,

$$\lim_{R\to\infty} \limsup_{n\to\infty} \int_{\mathbb{R}^N} |u_n| \, \psi^{p-1} \, |\nabla u_n|^{p-1} \, |\nabla \psi| \, dx \leqslant \lim_{R\to\infty} \int_{R<|x|<2R} |u|^{p^*} dx = 0 \, .$$

Similarly,

$$\lim_{R\to\infty} \limsup_{n\to\infty} \int_{\mathbb{R}^N} |u_n|^p |\nabla \psi|^p dx = 0.$$

By (2.21) we have

$$\lim_{R\to\infty} \limsup_{n\to\infty} \int_{\mathbb{R}^N} |\nabla(u_n\psi)|^p dx = \lim_{R\to\infty} \limsup_{n\to\infty} \int_{\mathbb{R}^N} \psi^p |\nabla u_n|^p dx.$$

From (2.20) it follows that

$$\mu_{\infty} - \gamma_{\infty} \geqslant S\left(\sum_{i=1}^{k} \lambda_{i}\right) \left(\nu_{\infty}\right)^{\frac{p}{p^{*}}}.$$
 (2.22)

On the other hand,

$$0 = \lim_{n \to \infty} \langle J'(u_n), u_n \psi \rangle = \lim_{n \to \infty} \left(\int_{\mathbb{R}^N} |\nabla u_n|^p \psi \, dx + \int_{\mathbb{R}^N} u_n |\nabla u_n|^{p-2} \nabla u_n \nabla \psi \, dx - \int_{\mathbb{R}^N} \sum_{i=1}^k \frac{\lambda_i |u_n|^p \psi}{|x - a_i|^p} dx - A \int_{\mathbb{R}^N} \psi |u_n|^{p^*} dx \right). \tag{2.23}$$

Furthermore,

$$\left| \frac{|u_n|^p \psi}{|x - a_i|^p} - \frac{|u_n|^p \psi}{|x|^p} \right| = \frac{|u_n|^p \psi}{|x|^p} \frac{\left| |x|^p - |x - a_i|^p \right|}{|x - a_i|^p} \leqslant C \frac{|u_n|^p \psi}{|x|^{p+1}},$$

where C is a constant independent of R. Thus by the Hölder inequality we have

$$\int_{\mathbb{R}^N} \frac{|u_n|^p \psi}{|x|^{p+1}} dx \leqslant \left(\int_{|x| > R} |u_n|^{p^*} dx \right)^{\frac{p}{p^*}} \left(\int_{|x| > R} |x|^{-\frac{N(p+1)}{p}} dx \right)^{\frac{p}{N}} = O(R^{-1}).$$

Consequently,

$$\lim_{R \to \infty} \limsup_{n \to \infty} \int_{\mathbb{R}^N} \sum_{i=1}^k \frac{\lambda_i |u_n|^p \psi}{|x - a_i|^p} dx = \lim_{R \to \infty} \limsup_{n \to \infty} \int_{\mathbb{R}^N} \sum_{i=1}^k \lambda_i \frac{|u_n|^p \psi}{|x|^p} dx = \gamma_{\infty}.$$
 (2.24)

From (2.2)-(2.4) and (2.23)-(2.24) we obtain

$$\mu_{\infty} - \gamma_{\infty} \leqslant A \, \nu_{\infty} \,. \tag{2.25}$$

By (2.22) and (2.25) we deduce that Claim 3 holds.

Now we come to the conclusion of Lemma 2.1. From Claims 1-3 it follows that

$$c = J(u_n) - \frac{1}{p} \langle J'(u_n), u_n \rangle + o(1)$$

$$= \left(\frac{1}{p} - \frac{1}{p^*}\right) A \int_{\mathbb{R}^N} |u_n|^{p^*} dx + o(1)$$

$$= \frac{1}{N} A \left(\int_{\mathbb{R}^N} |u|^{p^*} dx + v_{\infty} + \sum_{i=1}^k v_{a_i} + \sum_{j \in \mathscr{J}} v_{x_j}\right).$$

Thus from (2.1) and Claims 1-3, it follows that

$$v_{\infty}=0$$
; $v_{a_i}=0$, $i=1,2,\cdots,k$; $v_{x_i}=0$, $\forall j \in \mathscr{J}$.

Up to a subsequence, $u_n \to u$ strongly in $D^{1,p}(\mathbb{R}^N)$. Thus the proof of Lemma 2.1 is complete.

3. Proof of Theorem 1.1

In the following arguments, we always set

$$\hat{\lambda} := \sum_{i=1}^{k} \lambda_i, \quad \lambda_i \in \mathbb{R}, \tag{3.1}$$

$$\alpha_{\lambda} := \mathscr{C}_1(\lambda) \left(\int_{\mathbb{R}^N} |U_{p,\lambda}(x)|^{p^*} \right)^{-\frac{1}{p^*}}, \tag{3.2}$$

$$\bar{\alpha}_{\lambda} := \mathscr{C}_2(\lambda) \left(\int_{\mathbb{R}^N} |U_{p,\lambda}(x)|^{p^*} \right)^{-\frac{1}{p^*}}, \tag{3.3}$$

$$\beta := b(\lambda) - \delta, \ \beta_i := b(\lambda_i) - \delta, \ \lambda_i \in [0, \overline{\lambda}), \ i = 1, 2, \dots, k,$$
 (3.4)

$$\gamma_{\lambda} := \int_{\mathbb{R}^N} \frac{dx}{|x|^p |x - e_1|^{pb(\lambda)}}, \quad e_1 := (1, 0, \dots, 0) \in \mathbb{R}^N,$$
(3.5)

$$z_{\mu}^{\lambda}(x) := \mu^{-\delta} U_{p,\lambda}(|x|\mu^{-1}) \left(\int_{\mathbb{R}^{N}} |U_{p,\lambda}(x)|^{p^{*}} dx \right)^{-\frac{1}{p^{*}}}, \quad \mu \in (0, +\infty),$$
 (3.6)

where $\mathscr{C}_1(\lambda)$, $\mathscr{C}_2(\lambda)$, $b(\lambda)$ and $b(\lambda_i)$ are defined as in (1.6)-(1.8) and $U_{p,\lambda}$ is the minimizers of $S(\lambda)$ in (1.5).

LEMMA 3.1. Suppose $\xi \in \mathbb{R}^N \setminus \{0\}$ and $N > \max\{p^2, p+1\}$. Then as $\mu \to 0$ we have

$$\begin{split} &\int_{\mathbb{R}^{N}} \frac{|z_{\mu}^{\lambda}(x)|^{p}}{|x+\xi|^{p}} dx = \frac{\mu^{p}}{|\xi|^{p}} \int_{\mathbb{R}^{N}} |z_{1}^{\lambda}|^{p} dx + o(\mu^{p}) \quad \text{if} \quad 0 < \lambda < \lambda^{*} \,, \\ &\int_{\mathbb{R}^{N}} \frac{|z_{\mu}^{\lambda}(x)|^{p}}{|x+\xi|^{p}} dx \, \geqslant \, (\alpha_{\lambda})^{p} \, \frac{\mu^{p} |ln\mu|}{|\xi|^{p}} + o(\mu^{p} |ln\mu|) \quad \text{if} \quad \lambda = \lambda^{*} \,, \\ &\int_{\mathbb{R}^{N}} \frac{|z_{\mu}^{\lambda}(x)|^{p}}{|x+\xi|^{p}} dx \, \leqslant \, (\overline{\alpha}_{\lambda})^{p} \, \frac{\mu^{p} |ln\mu|}{|\xi|^{p}} + o(\mu^{p} |ln\mu|) \quad \text{if} \quad \lambda = \lambda^{*} \,, \\ &\int_{\mathbb{R}^{N}} \frac{|z_{\mu}^{\lambda}(x)|^{p}}{|x+\xi|^{p}} dx \, \leqslant \, (\alpha_{\lambda})^{p} \, \gamma_{\lambda} \, |\xi|^{-p\beta} \, \mu^{p\beta} + o(\mu^{p\beta}) \quad \text{if} \quad \lambda^{*} < \lambda < \overline{\lambda} \,, \\ &\int_{\mathbb{R}^{N}} \frac{|z_{\mu}^{\lambda}(x)|^{p}}{|x+\xi|^{p}} dx \, \leqslant \, (\overline{\alpha}_{\lambda})^{p} \, \gamma_{\lambda} \, |\xi|^{-p\beta} \, \mu^{p\beta} + o(\mu^{p\beta}) \quad \text{if} \quad \lambda^{*} < \lambda < \overline{\lambda} \,, \end{split}$$

where $\lambda^* = \frac{(N-p^2)N^{p-1}}{p^p}$ is defined as in Theorem 1.1.

Proof. Here we need to investigate the properties of $a(\lambda)$ and $b(\lambda)$ for $\lambda \in [0, \overline{\lambda})$. We can verify that the function

$$f(t) = (p-1)t^p - (N-p)t^{p-1} + \lambda, \quad t \in [0, +\infty),$$

has the only minimal point $\delta=\frac{N-p}{p}$ and is increasing on the interval $(\delta,+\infty)$. Since $\frac{N}{p},\ b(\lambda)\in(\delta,+\infty)$, then for $N>p^2$ and $\lambda>0$ we have that:

$$\beta > 1 \iff \frac{N}{p} < b(\lambda) \iff f(\frac{N}{p}) < f(b(\lambda)) = 0 \iff \lambda < \lambda^*,$$

$$\beta = 1 \iff \frac{N}{p} = b(\lambda) \iff f(\frac{N}{p}) = f(b(\lambda)) = 0 \iff \lambda = \lambda^*,$$

$$\beta < 1 \iff \frac{N}{p} > b(\lambda) \iff f(\frac{N}{p}) > f(b(\lambda)) = 0 \iff \lambda > \lambda^*.$$

Note the fact that $0 < a(\lambda) < \delta < b(\lambda)$. Then

$$\int_{\mathbb{R}^{N}} \frac{|z_{\mu}^{\lambda}|^{p}}{|x+\xi|^{p}} dx = \mu^{p} \int_{\mathbb{R}^{N}} \frac{|z_{1}^{\lambda}|^{p}}{|\mu x+\xi|^{p}} dx
= \mu^{p} \int_{|x| < \frac{\xi}{2\mu}} \frac{|z_{1}^{\lambda}|^{p}}{|\mu x+\xi|^{p}} dx + \mu^{p} \int_{|x| \geqslant \frac{\xi}{2\mu}} \frac{|z_{1}^{\lambda}|^{p}}{|\mu x+\xi|^{p}} dx.$$
(3.7)

For the first part, from (1.8) we have

$$\mu^{p} \left| \int_{|x| < \frac{|\xi|}{2\mu}} |z_{1}^{\lambda}(x)|^{p} \left(\frac{1}{|\mu x + \xi|^{p}} - \frac{1}{|\xi|^{p}} \right) dx \right|$$

$$\leq C \mu^{p} \int_{|x| < \frac{|\xi|}{2\mu}} \left(|x|^{\frac{a(\lambda)}{\delta}} + |x|^{\frac{b(\lambda)}{\delta}} \right)^{-(N-p)} \left| \frac{1}{|\mu x + \xi|^{p}} - \frac{1}{|\xi|^{p}} \right| dx.$$

If $|x| < |\xi|/(2\mu)$, then there exists some constant $C(\xi) > 0$ depending only on ξ such that $||\mu x + \xi|^{-p} - |\xi|^{-p}| \le C(\xi)$. Consequently,

$$\left| \mu^{p} \int_{|x| < \frac{|\xi|}{2\mu}} |z_{1}^{\lambda}(x)|^{p} \left(\frac{1}{|\mu x + \xi|^{p}} - \frac{1}{|\xi|^{p}} \right) dx \right|$$

$$\leq C \mu^{p} \int_{0}^{\frac{|\xi|}{2\mu}} \frac{r^{N-1} dr}{\left(r^{\frac{a(\lambda)}{\delta}} + r^{\frac{b(\lambda)}{\delta}} \right)^{N-p}} = O(\mu^{p(b(\lambda) - \delta)}) \to 0 \text{ as } \mu \to 0.$$
 (3.8)

On the other hand, from (1.8) it follows that

$$\mu^{p} \int_{|x| \ge \frac{\xi}{2\mu}} \frac{|z_{1}^{\lambda}|^{p}}{|\mu x + \xi|^{p}} dx$$

$$\leq C \mu^{p(b(\lambda) - \delta)} \int_{|x - \xi| \ge \frac{|\xi|}{2}} \frac{\left(\mu^{\frac{b(\lambda) - a(\lambda)}{\delta}} + |x - \xi|^{\frac{b(\lambda) - a(\lambda)}{\delta}}\right)^{-(N - p)}}{|x|^{p} |x - \xi|^{p a(\lambda)}} dx$$

$$= C \mu^{p(b(\lambda) - \delta)} \left(\int_{|x - \xi| \ge \frac{|\xi|}{2}, |x| < 2|\xi|} + \int_{|x - \xi| \ge \frac{|\xi|}{2}, |x| \ge 2|\xi|}\right)$$

$$\leq C \mu^{p(b(\lambda) - \delta)} \left(\int_{0}^{2|\xi|} r^{N - p - 1} dr + \int_{2|\xi|}^{+\infty} \frac{dr}{r^{1 + p(b(\lambda) - \delta)}}\right)$$

$$= O(\mu^{p(b(\lambda) - \delta)}) \to 0 \text{ as } \mu \to 0. \tag{3.9}$$

(i). If $N>p^2,\ 0<\lambda<\lambda^*,\ \text{then}\ b(\lambda)>\frac{N}{p},\ p(b(\lambda)-\delta)>p\ \ \text{ and }\ z_1^\lambda\in L^p(\mathbb{R}^N).$ From (3.6)-(3.8) it follows that

$$\begin{split} \mu^p \int_{|x| < \frac{|\xi|}{2\mu}} |z_1^{\lambda}(x)|^p \frac{1}{|\mu x + \xi|^p} dx &= \frac{\mu^p}{|\xi|^p} \int_{|x| < \frac{|\xi|}{2\mu}} |z_1^{\lambda}(x)|^p dx + o(\mu^p) \\ &= \frac{\mu^p}{|\xi|^p} \int_{\mathbb{R}^N} |z_1^{\lambda}(x)|^p dx + o(\mu^p) \,. \end{split}$$

Consequently,

$$\int_{\mathbb{R}^N} \frac{|z_{\mu}^{\lambda}|^p}{|x+\xi|^p} dx = \frac{\mu^p}{|\xi|^p} \int_{\mathbb{R}^N} |z_1^{\lambda}(x)|^p dx + o(\mu^p).$$

(ii). If $N > p^2$ and $\lambda = \lambda^*$, then $b(\lambda) = \frac{N}{p}$. From (1.8) it follows that

$$\mu^{p} \int_{|x| < \frac{|\xi|}{2\mu}} |z_{1}^{\lambda}(x)|^{p} dx = \mu^{p} \int_{0}^{\frac{|\xi|}{2\mu}} |z_{1}^{\lambda}(r)|^{p} r^{N-1} dr$$

$$= \mu^{p} \int_{1}^{\frac{|\xi|}{2\mu}} |z_{1}^{\lambda}(r)|^{p} r^{N-1} dr + O(\mu^{p}) \geqslant (\alpha_{\lambda,N})^{p} \mu^{p} |\ln \mu| + O(\mu^{p})$$

$$= (\alpha_{\lambda,N})^{p} \mu^{p} |\ln \mu| + o(\mu^{p} |\ln \mu|). \tag{3.10}$$

From (3.7)-(3.10) it follows that

$$\int_{\mathbb{R}^N} \frac{|z_{\mu}^{\lambda}|^p}{|x+\xi|^p} dx \geqslant \frac{(\alpha_{\lambda,N})^p \, \mu^p |\ln \mu|}{|\xi|^p} + o(\mu^p |\ln \mu|).$$

On the other hand, by (1.8) and following the similar argument we obtain that

$$\int_{\mathbb{R}^N} \frac{|z_\mu^\lambda|^p}{|x+\xi|^p} dx \leqslant \frac{(\overline{\alpha}_{\lambda,N})^p \, \mu^p |\ln \mu|}{|\xi|^p} + o(\mu^p |\ln \mu|)$$

for $b(\lambda) = \frac{N}{p}$ and $\mu \to 0$.

(iii). If $N > \max\{p^2, p+1\}$ and $\lambda > \lambda^*$, then $b(\lambda) < \frac{N}{p}$. From (1.8) it follows

$$\int_{\mathbb{R}^{N}} \frac{|z_{\mu}^{\lambda}|^{p}}{|x+\xi|^{p}} dx \geqslant (\alpha_{\lambda,N})^{p} \int_{\mathbb{R}^{N}} \frac{\mu^{p-N} dx}{|x+\xi|^{p} \left(\left|\frac{x}{\mu}\right|^{\frac{a(\lambda)}{\delta}} + \left|\frac{x}{\mu}\right|^{\frac{b(\lambda)}{\delta}}\right)^{N-p}}$$

$$= (\alpha_{\lambda,N})^{p} \mu^{p\beta} \int_{\mathbb{R}^{N}} \frac{\left(\mu^{\frac{b(\lambda)-a(\lambda)}{\delta}} + |x-\xi|^{\frac{b(\lambda)-a(\lambda)}{\delta}}\right)^{-(N-p)}}{|x|^{p} |x-\xi|^{pa(\lambda)}} dx$$

$$= (\alpha_{\lambda,N})^{p} \mu^{p\beta} \int_{\mathbb{R}^{N}} \left(\frac{\left(\mu^{\frac{b(\lambda)-a(\lambda)}{\delta}} + |x-\xi|^{\frac{b(\lambda)-a(\lambda)}{\delta}}\right)^{p-N}}{|x|^{p} |x-\xi|^{pa(\lambda)}} - \frac{1}{|x|^{p} |x-\xi|^{pb(\lambda)}}\right) dx$$

$$+ (\alpha_{\lambda,N})^{p} \mu^{p\beta} \int_{\mathbb{R}^{N}} \frac{dx}{|x|^{p} |x-\xi|^{pb(\lambda)}}.$$
(3.11)

For $a, b \ge 0$ and $\tau > 1$, the following elementary inequality holds:

$$0 \leqslant (a+b)^{\tau} - a^{\tau} \leqslant C(a^{\tau-1}b + b^{\tau}),$$

where $C = C(\tau) > 0$ is some constant. From the assumption N > p + 1 it follows that

$$\left| \frac{\left(\mu^{\frac{b(\lambda) - a(\lambda)}{\delta}} + |x - \xi|^{\frac{b(\lambda) - a(\lambda)}{\delta}} \right)^{-(N-p)}}{|x|^{p}|x - \xi|^{pa(\lambda)}} - \frac{1}{|x|^{p}|x - \xi|^{pb(\lambda)}} \right| \\
= \frac{\left(\mu^{\frac{b(\lambda) - a(\lambda)}{\delta}} + |x - \xi|^{\frac{b(\lambda) - a(\lambda)}{\delta}} \right)^{-(N-p)}}{|x|^{p}|x - \xi|^{pb(\lambda)}} \times \\
\left(\left(\mu^{\frac{b(\lambda) - a(\lambda)}{\delta}} + |x - \xi|^{\frac{b(\lambda) - a(\lambda)}{\delta}} \right)^{N-p} - \left(|x - \xi|^{\frac{b(\lambda) - a(\lambda)}{\delta}} \right)^{N-p} \right) \\
\leqslant C \frac{\left(\mu^{\frac{b(\lambda) - a(\lambda)}{\delta}} + |x - \xi|^{\frac{b(\lambda) - a(\lambda)}{\delta}} \right)^{-(N-p)}}{|x|^{p}|x - \xi|^{pb(\lambda)}} \times \\
\left(|x - \xi|^{\frac{(b(\lambda) - a(\lambda))(N-p-1)}{\delta}} \mu^{\frac{b(\lambda) - a(\lambda)}{\delta}} + \mu^{p(b(\lambda) - a(\lambda))} \right) \\
= C \left(\frac{\mu^{\frac{b(\lambda) - a(\lambda)}{\delta}} \left(\mu^{\frac{b(\lambda) - a(\lambda)}{\delta}} + |x - \xi|^{\frac{b(\lambda) - a(\lambda)}{\delta}} \right)^{-(N-p)}}{|x|^{p}|x - \xi|^{pb(\lambda) - \frac{(b(\lambda) - a(\lambda))(N-p-1)}{\delta}}} \right) \\
+ \frac{\mu^{p(b(\lambda) - a(\lambda))} \left(\mu^{\frac{b(\lambda) - a(\lambda)}{\delta}} + |x - \xi|^{\frac{b(\lambda) - a(\lambda)}{\delta}} \right)^{-(N-p)}}{|x|^{p}|x - \xi|^{pb(\lambda)}} \right). \tag{3.12}$$

If $\mu \to 0$, there follows that

$$\begin{split} \int_{\mathbb{R}^N} \frac{\mu^{\frac{b(\lambda)-a(\lambda)}{\delta}}\left(\mu^{\frac{b(\lambda)-a(\lambda)}{\delta}} + |x-\xi|^{\frac{b(\lambda)-a(\lambda)}{\delta}}\right)^{-(N-p)}}{|x|^p |x-\xi|^{pb(\lambda)-\frac{(b(\lambda)-a(\lambda))(N-p-1)}{\delta}}} dx \\ &\leqslant C\mu^{\frac{b(\lambda)-a(\lambda)}{\delta}} \int_{|x-\xi|>\frac{|\xi|}{2},\,|x|<2|\xi|} \frac{dx}{|x|^p} \\ &\quad + C\mu^{\frac{b(\lambda)-a(\lambda)}{\delta}} \int_{|x-\xi|>\frac{|\xi|}{2},\,|x|>2|\xi|} \frac{dx}{|x|^{p+pb(\lambda)+\frac{p}{N-p}(b(\lambda)-a(\lambda))}} \\ &\quad + C\mu^{N-pb(\lambda)} \int_0^{\frac{|\xi|}{2\mu}} \frac{r^{N-1} dr}{r^{pb(\lambda)-\frac{(b(\lambda)-a(\lambda))(N-p-1)}{\delta}} \left(1+r^{\frac{b(\lambda)-a(\lambda)}{\delta}}\right)^{N-p}} \\ &= O(\mu^{\frac{b(\lambda)-a(\lambda)}{\delta}}) = o(1) \quad \text{as} \quad \mu \to 0. \end{split}$$

By the same arguments we also have

$$\int_{\mathbb{R}^N} \frac{\mu^{p(b(\lambda)-a(\lambda))} \left(\mu^{\frac{b(\lambda)-a(\lambda)}{\delta}} + |x-\xi|^{\frac{b(\lambda)-a(\lambda)}{\delta}}\right)^{-(N-p)}}{|x|^p |x-\xi|^{pb(\lambda)}} dx = o(1) \quad \text{as } \mu \to 0.$$

From (3.11) and (3.12) we deduce that

$$\int_{\mathbb{R}^N} \frac{|z_{\mu}^{\lambda}|^p}{|x+\xi|^p} dx \geqslant (\alpha_{\lambda,N})^p \mu^{p\beta} \int_{\mathbb{R}^N} \frac{dx}{|x|^p |x-\xi|^{pb(\lambda)}} + o(\mu^{p\beta}).$$

If $b(\lambda) < \frac{N}{p}$ and $\mu \to 0$, from (1.8) and by the similar argument we have

$$\int_{\mathbb{R}^N} \frac{|z_\mu^\lambda|^p}{|x+\xi|^p} dx \leqslant (\overline{\alpha}_{\lambda,N})^p \mu^{p\beta} \int_{\mathbb{R}^N} \frac{dx}{|x|^p |x-\xi|^{pb(\lambda)}} + o(\mu^{p\beta}).$$

On the other hand, the function

$$\varphi(\xi) = \int_{\mathbb{R}^N} \frac{1}{|x|^p |x - \xi|^{pb(\lambda)}} dx$$

is invariant by rotation. Furthermore,

$$egin{aligned} & arphi(\eta\,\xi) = \eta^{p(\delta-b(\lambda))}\,arphi(\xi) = \eta^{-peta}\,arphi(\xi), & orall\,\eta > 0, \ \\ & arphi(\xi) = arphiig(|\xi|(\xi/|\xi|)ig) = |\xi|^{-peta}\,arphi(\xi/|\xi|) = |\xi|^{-peta}\,arphi(e_1). \end{aligned}$$

Thus the proof of the lemma is complete.

LEMMA 3.2. Suppose (\mathcal{H}_1) , $N > \max\{p^2, p+1\}$ and $j \in \{1, 2, \dots, k\}$. Assume that one of the following conditions is satisfied:

$$(i) \ \ 0 < \lambda_j < \lambda^* \quad and \quad \sum_{i \neq j, i=1}^k \frac{\lambda_i}{|a_i - a_j|^p} > 0,$$

$$(ii) \ \ \lambda^* \leqslant \lambda_j < \bar{\lambda} \quad and \quad \Lambda_j := \sum_{i=1}^l \frac{\left(\mathscr{C}_2(\lambda_j)\right)^p \lambda_i}{|a_i - a_j|^{p\beta_j}} + \sum_{i \neq j, i=l+1}^k \frac{\left(\mathscr{C}_1(\lambda_j)\right)^p \lambda_i}{|a_i - a_j|^{p\beta_j}} > 0.$$

$$Then \quad A < S(\lambda_j).$$

Proof. If $0 < \lambda_j < \overline{\lambda}$ and $\mu \to 0$, from Lemma 3.1 it follows that

$$\begin{split} A &\leqslant \int_{\mathbb{R}^N} \left(|\nabla z_{\mu}^{\lambda_j}(x-a_j)|^p - \sum_{i=1}^k \lambda_i \frac{|z_{\mu}^{\lambda_j}(x-a_j)|^p}{|x-a_i|^p} \right) dx \\ &= \int_{\mathbb{R}^N} \left(|\nabla z_{\mu}^{\lambda_j}(x)|^p - \lambda_j \frac{|z_{\mu}^{\lambda_j}(x)|^p}{|x|^p} \right) dx - \sum_{i \neq j, i=1}^k \lambda_i \int_{\mathbb{R}^N} \frac{|z_{\mu}^{\lambda_j}(x)|^p}{|x+a_j-a_i|^p} dx \\ &= S(\lambda_j) - \sum_{i \neq j, i=1}^k \lambda_i \int_{\mathbb{R}^N} \frac{|z_{\mu}^{\lambda_j}(x)|^p}{|x+a_j-a_i|^p} dx + o(1) \\ &\leqslant S(\lambda_j) - \begin{cases} C\mu^p \left(\sum_{i \neq j, i=1}^k \frac{\lambda_i}{|a_i-a_j|^p} + o(1) \right), \ 0 < \lambda_j < \lambda^*, \\ C\mu^p |\ln \mu| \left(\Lambda_j + o(1) \right), \ \lambda_j = \lambda^*, \\ C\mu^{p\beta_j} \left(\Lambda_j + o(1) \right), \ \lambda^* < \lambda_j < \overline{\lambda} \end{cases}. \end{split}$$

Under the assumption either (i) or (ii), we have that $A < S(\lambda_j)$.

Proof of Theorem 1.1. Let $\{u_n\} \subset D^{1,p}(\mathbb{R}^N)$ be a minimizing sequence for A. By the homogeneity of the quotient we can assume that $\int_{\mathbb{R}^N} |u_n|^{p^*} = 1$. From the Ekeland's variational principle we can assume that the sequence has the Palais-Smale property:

$$o(\|v\|) = \int_{\mathbb{R}^N} |\nabla u_n|^{p-2} \nabla u_n \nabla v \, dx - \sum_{i=1}^k \int_{\mathbb{R}^N} \frac{\lambda_i |u_n|^{p-2} u_n v}{|x - a_i|^p} dx - A \int_{\mathbb{R}^N} |u_n|^{p^* - 2} u_n v \, dx.$$

Hence $J'(u_n) \to 0$ in $D^{-1,p}(\mathbb{R}^N)$ and $J(u_n) \to \frac{1}{N}A$. Note that $S(\lambda)$ is strictly decreasing with respect to λ . By (\mathcal{H}_1) and Lemma 3.2 we have

$$A < S(\lambda_k) \leqslant S(\lambda_{k-1}) \leqslant \cdots \leqslant S(\lambda_1), \quad S(\lambda_k) < S(\hat{\lambda}), \quad S(\lambda_k) < S(0).$$

Consequently,

$$\begin{split} A < \min \Big\{ S(0), \ S(\lambda_1), \ S(\lambda_2), \ \cdots, \ S(\lambda_k), \ S(\hat{\lambda}) \Big\}, \\ \frac{1}{N} A < \frac{1}{N} A^{1 - \frac{N}{p}} \Big(\min \big\{ S(0), \ S(\lambda_1), \ S(\lambda_2), \ \cdots, \ S(\lambda_k), \ S(\hat{\lambda}) \big\} \Big)^{\frac{N}{p}}. \end{split}$$

By Lemma 2.1 we conclude that $\{u_n\}$ has a subsequence converging strongly to some $u_0 \in D^{1,p}(\mathbb{R}^N)$. Moreover, $J(u_0) = \frac{1}{N}A$. Thus u_0 achieves the infimum in (1.9). From the fact that $J(u_0) = J(|u_0|)$ it follows that $|u_0|$ is also a minimizer in (1.9) and therefore $v_0 = A^{\frac{1}{p^*-p}}|u_0|$ is a nonnegative solution of (1.1). By the maximum principle [20], we have $v_0 > 0$ in $\mathbb{R}^N \setminus \{a_1, a_2, \cdots, a_k\}$. The proof of Theorem 1.1 is complete. \square

4. Proof of Theorem 1.2

In order to prove Theorem 1.2, we first establish several lemmas.

LEMMA 4.1. Let $z_{\mu}^{\lambda}(x)$ be the function defined as in (3.6). Then for any $\xi \in \mathbb{R}^N$, $\lambda \in (0, \overline{\lambda})$ and $\mu \to +\infty$ we have

$$\int_{\mathbb{R}^N} \frac{|z_{\mu}^{\lambda}(x)|^p}{|x+\xi|^p} dx = \int_{\mathbb{R}^N} \frac{|z_{1}^{\lambda}(x)|^p}{|x|^p} dx + o(1) = \int_{\mathbb{R}^N} \frac{|z_{\mu}^{\lambda}(x)|^p}{|x|^p} dx + o(1). \tag{4.1}$$

Proof. Setting $x = \mu y$, we have

$$\int_{\mathbb{R}^N} \frac{|z_{\mu}^{\lambda}(x)|^p}{|x+\xi|^p} dx = \mu^{p-N} \int_{\mathbb{R}^N} \frac{|z_1^{\lambda}(\frac{x}{\mu})|^p}{|x+\xi|^p} dx = \int_{\mathbb{R}^N} \frac{|z_1^{\lambda}(y)|^p}{|y+\frac{\xi}{\mu}|^p} dy. \tag{4.2}$$

Note that $|\frac{\xi}{\mu}| \to 0$ as $\mu \to \infty$. By the continuity property of convolution and density arguments we have

$$\int_{\mathbb{R}^N} \frac{|z_1^{\lambda}(y)|^p}{|y + \frac{\xi}{\mu}|^p} dy = \int_{\mathbb{R}^N} \frac{|z_1^{\lambda}(y)|^p}{|y|^p} dy + o(1) = \int_{\mathbb{R}^N} \frac{|z_{\mu}^{\lambda}(y)|^p}{|y|^p} dy + o(1). \tag{4.3}$$

From (4.2) and (4.3) we can reach the desired conclusion (4.1).

LEMMA 4.2. Assume that $a_i \in \mathbb{R}^N$, $\lambda_i \in \mathbb{R}$, $i = 1, 2, \dots, k$, and $\hat{\lambda} \in (0, \overline{\lambda})$ is defined as in (3.1). Then $A \leq S(\hat{\lambda})$.

Proof. By Lemma 4.1, as μ large enough we have

$$\begin{split} A &\leqslant \Bigg(\int_{\mathbb{R}^N} \bigg(|\nabla z_\mu^{\hat{\lambda}}|^p - \sum_{i=1}^k \frac{\lambda_i |z_\mu^{\hat{\lambda}}|^p}{|x - a_i|^p} \bigg) dx \Bigg) \bigg(\int_{\mathbb{R}^N} |z_\mu^{\hat{\lambda}}|^{p^*} dx \bigg)^{-\frac{p}{p^*}} \\ &= \Bigg(\int_{\mathbb{R}^N} \bigg(|\nabla z_\mu^{\hat{\lambda}}|^p - \hat{\lambda} \frac{|z_\mu^{\hat{\lambda}}|^p}{|x|^p} \bigg) dx \Bigg) \bigg(\int_{\mathbb{R}^N} |z_\mu^{\hat{\lambda}}|^{p^*} dx \bigg)^{-\frac{p}{p^*}} + o(1) = S(\hat{\lambda}) \, + \, o(1) \, . \end{split}$$

Taking $\mu \to +\infty$ we can conclude the lemma.

LEMMA 4.3. Assume that $\lambda_i > 0$, $i = 1, 2, \dots, k$ and $\hat{\lambda} < \overline{\lambda}$. Then

$$A = S(\hat{\lambda}). \tag{4.4}$$

Proof. For any $a \in \mathbb{R}^N, u \in D^{1,p}(\mathbb{R}^N)$ and $u \geqslant 0$ a.e. in \mathbb{R}^N , we have [21]:

$$\int_{\mathbb{R}^N} u^{p^*} dx = \int_{\mathbb{R}^N} |u^*(x)|^{p^*} dx,$$

$$\int_{\mathbb{R}^N} \frac{u^p}{|x-a|^p} dx \leqslant \int_{\mathbb{R}^N} |u^*(x)|^p \left(\left(\frac{1}{|x-a|}\right)^*\right)^p dx,$$
(4.5)

where $u^* = \inf\{t > 0 : |\{y \in \mathbb{R}^N, u(y) > t\}| \le \omega_N |x|^N\}$ is the Schwarz symmetrization of u and $|\cdot|$ is the Lebesgue measure of \mathbb{R}^N , ω_N is the volume of the unit ball in \mathbb{R}^N . Direct calculation shows that

$$\left(\frac{1}{|x-a|}\right)^* = \frac{1}{|x|}.$$

Consequently,

$$\int_{\mathbb{R}^{N}} \frac{u^{p}}{|x-a|^{p}} dx \le \int_{\mathbb{R}^{N}} \frac{|u^{*}(x)|^{p}}{|x|^{p}} dx. \tag{4.6}$$

From the Pólya-Szegö inequality it follows that

$$\int_{\mathbb{R}^N} |\nabla u^*|^p dx \leqslant \int_{\mathbb{R}^N} |\nabla u|^p dx. \tag{4.7}$$

Thus for all $u \in D^{1,p}(\mathbb{R}^N)$ and $u \ge 0$ a.e. in \mathbb{R}^N we have that

$$\left(\int_{\mathbb{R}^{N}} \left(|\nabla u|^{p} - \sum_{i=1}^{k} \frac{\lambda_{i} u^{p}}{|x - a_{i}|^{p}} \right) dx \right) \left(\int_{\mathbb{R}^{N}} \sum_{i=1}^{k} u^{p^{*}} dx \right)^{-\frac{p}{p^{*}}}$$

$$\geqslant \left(\int_{\mathbb{R}^{N}} \left(|\nabla u^{*}|^{p} - \hat{\lambda} \frac{|u^{*}|^{p}}{|x|^{p}} \right) dx \right) \left(\int_{\mathbb{R}^{N}} |u^{*}|^{p^{*}} dx \right)^{-\frac{p}{p^{*}}} \geqslant S(\hat{\lambda}). \quad (4.8)$$

Note that the Rayleigh quotient above remains unchanged when replacing u with |u|. Thus we have

$$A = \inf_{u \in D^{1,p}(\mathbb{R}^N) \setminus \{0\}, u \geqslant 0} \frac{\int_{\mathbb{R}^N} \left(|\nabla u|^p - \sum_{i=1}^k \frac{\lambda_i u^p}{|x - a_i|^p} \right) dx}{\left(\int_{\mathbb{R}^N} u^{p^*} dx \right)^{p/p^*}}.$$

From (4.8) it follows that $A \ge S(\hat{\lambda})$, which together with Lemma 4.2 implies that (4.4) holds.

Proof of Theorem 1.2. We argue by contradiction. Assume that the infimum in (1.9) is attained by some $u_0 \in D^{1,p}(\mathbb{R}^N) \setminus \{0\}$. Since $|u_0|$ is also a minimizer in (1.9), we may assume that $u_0 \ge 0$ a.e. in \mathbb{R}^N and therefore the Schwarz symmetrization u_0^* can be employed. From (4.5)-(4.8) we obtain

$$A = \left(\int_{\mathbb{R}^{N}} \left(|\nabla u_{0}|^{p} - \sum_{i=1}^{k} \frac{\lambda_{i} u_{0}^{p}}{|x - a_{i}|^{p}} \right) dx \right) \left(\int_{\mathbb{R}^{N}} u_{0}^{p^{*}} dx \right)^{-\frac{p}{p^{*}}}$$

$$\geqslant \left(\int_{\mathbb{R}^{N}} \left(|\nabla u_{0}^{*}|^{p} - \hat{\lambda} \frac{|u_{0}^{*}|^{p}}{|x|^{p}} \right) dx \right) \left(\int_{\mathbb{R}^{N}} |u_{0}^{*}|^{p^{*}} dx \right)^{-\frac{p}{p^{*}}} \geqslant S(\hat{\lambda}). \quad (4.9)$$

From Lemma 4.3 we deduce that all inequalities in (4.9) are indeed equalities. In particular we have:

$$\int_{\mathbb{R}^{N}} \left(|\nabla u_{0}^{*}|^{p} - \hat{\lambda} \frac{|u_{0}^{*}|^{p}}{|x|^{p}} \right) dx = S(\hat{\lambda}) \left(\int_{\mathbb{R}^{N}} |u_{0}^{*}|^{p^{*}} dx \right)^{\frac{p}{p^{*}}}, \tag{4.10}$$

$$\int_{\mathbb{R}^{N}} \left(|\nabla u_{0}|^{p} - \sum_{i=1}^{k} \frac{\lambda_{i} u_{0}^{p}}{|x - a_{i}|^{p}} \right) dx = \int_{\mathbb{R}^{N}} \left(|\nabla u_{0}^{*}|^{p} - \hat{\lambda} \frac{|u_{0}^{*}|^{p}}{|x|^{p}} \right) dx. \tag{4.11}$$

Thus from (4.6), (4.7) and (4.11) it follows that

$$0 \leqslant \int_{\mathbb{R}^{N}} |\nabla u_{0}|^{p} dx - \int_{\mathbb{R}^{N}} |\nabla u_{0}^{*}|^{p} dx = \sum_{i=1}^{k} \frac{\lambda_{i} u_{0}^{p}}{|x - a_{i}|^{p}} - \hat{\lambda} \frac{|u_{0}^{*}|^{p}}{|x|^{p}} \leqslant 0.$$

Therefore

$$\int_{\mathbb{R}^N} |\nabla u_0|^p dx = \int_{\mathbb{R}^N} |\nabla u_0^*|^p dx.$$
 (4.12)

By (4.10) we infer that u_0^* is a minimizer of $S(\hat{\lambda})$ and solves the equation (1.4) with a=0 and $\lambda=\hat{\lambda}$. From [1] it follows that u_0^* must belongs to the family of $\mu^{-\delta}U_{p,\lambda}\left(\frac{|x|}{\mu}\right)$ for some $\mu>0$ and $\lambda=\hat{\lambda}$, where $U_{p,\lambda}$ is defined as in (1.5). From the fact that $u^*(|x|)$ is strictly decreasing we have

$$\left| \left\{ x \in \mathbb{R}^N \middle| \nabla u_0^*(x) = 0 \right\} \right| = 0.$$
 (4.13)

By (4.12) and (4.13) we conclude that there exists some point $x_0 \in \mathbb{R}^N$ such that $u_0 = u_0^*(\cdot - x_0)$ [3]. Thus u_0 is spherically symmetric with respect to x_0 . Since u_0 is a minimizer in (1.9), $v_0 = A^{\frac{1}{p^*-p}}u_0$ is a solution of the problem (1.1). Consequently, $\sum_{i=1}^k \frac{\lambda_i}{|x-a_i|^p}$ must be spherically symmetric with respect to x_0 , which gives a contradiction. Therefore the infimum in (1.9) cannot be achieved. The proof of Theorem 1.2 is complete. \square

Acknowledgements. The author acknowledges the anonymous referee for carefully reading this paper and suggesting many useful comments.

REFERENCES

- B. ABDELLAOUI, V. FELLI, I. PERAL, Existence and nonexistence for quasilinear equations involving the p-Laplacian, Boll. Unione Mat. Ital. Sez. B, 8 (2006), 445–484.
- [2] B. ABDELLAOUI, V. FELLI, I. PERAL, Existence and multiplicity for perturbations of an equation involving Hardy inequality and critical Sobolev exponent in the whole ℝ^N, Adv. Differential Equations, 9 (2004), 481–508.
- [3] J. BROTHERS, W. ZIEMER, Minimal rearrangements of Sobolev functions, Acta Univ. Carolin. Math. Phys., 28 (1987), 13–24.
- [4] L. CAFFARELLI, R. KOHN, L. NIRENBERG, First order interpolation inequality with weights, Compositio Math., 53 (1984), 259–275.
- [5] D. CAO, P. HAN, Solutions to critical elliptic equations with multi-singular inverse square potentials, J. Differential Equations, 224 (2006), 332–372.
- [6] V. FELLI, S. TERRACINI, Elliptic equations with multi-singular inverse-square potentials and critical nonlinearity, Comm. Partial Differential Equations, 31 (2006), 469–495.
- [7] V. FELLI, S. TERRACINI, Nonlinear Schrödinger equations with symmetric multi-polar potentials, Calc. Var. Partial Differential Equations, 27 (2006), 25–58.
- [8] A. FERRERO, F. GAZZOLA, Existence of solutions for singular critical growth semilinear elliptic equations, J. Differential Equations, 177 (2001), 494–522.
- [9] J. GARCIA, I. PERAL, Hardy inequalities and some critical elliptic and parabolic problems, J. Differential Equations, 144 (1998), 441–476.
- [10] N. GHOUSSOUB, C. YUAN, Multiple solutions for quasilinear PDEs involving the critical Sobolev and Hardy exponents, Trans. Amer. Math. Soc., 352 (2000), 5703–5743.
- [11] P. HAN, Quasilinear elliptic problems with critical exponents and Hardy terms, Nonlinear Analysis, 61 (2005), 735–758.
- [12] G. HARDY, J. LITTLEWOOD, G. POLYA, *Inequalities*, Cambridge University Press, Cambridge, UK, 1934.
- [13] E. JANNELLI, The role played by space dimension in elliptic critical problems, J. Differential Equations, 156 (1999), 407–426.
- [14] D. KANG, On the quasilinear elliptic problems with critical Sobolev-Hardy exponents and Hardy terms, Nonlinear Anal., 68 (2008), 1973–1985.
- [15] D. KANG, S. PENG, Positive solutions for elliptic equations with critical Hardy-Sobolev exponents, Appl. Math. Lett., 17 (2004), 411–416.
- [16] P. L. LIONS, *The concentration compactness principle in the calculus of variations, the limit case (I)*, Revista Mathematica Iberoamericana, 1, 1 (1985), 145–201.
- [17] P. L. LIONS, The concentration compactness principle in the calculus of variations, the limit case (II), Revista Mathematica Iberoamericana, 1, 2 (1985), 45–121.
- [18] D. SMETS, Nonlinear Schrödinger equations with Hardy potential and critical nonlinearities, Trans. Amer. Math. Soc., 357 (2005), 2909–2938.

- [19] S. TERRACINI, On positive solutions to a class equations with a singular coefficient and critical exponent, Adv. Differential Equations, 2 (1996), 241–264.
- [20] J. L. VAZQUEZ, A strong maximum principle for some quasilinear elliptic equations, Appl. Math. Optimization, 12 (1984), 191–202.
- [21] M. WILLEM, Analyse fonctionnelle elementaire, Cassini Editeurs, Paris, 2003.

(Received March 3, 2009)

Dongsheng Kang
Department of Mathematics
South-Central University For Nationalities
Wuhan, 430074
P. R. China
e-mail: dongshengkang@yahoo.com.cn